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Final Exam Review: Coloring fictivity DUE |2 I |12

balance. If mrepresents fine number of movies Jil
rents, which of fnese expressions can be used 1o
determire er gift certificate balance?
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20m-6 White
20m+ 6 Red
30+ 6m Blue
30 -6m Green

2. Julie opened a checking account with a $50 deposit.

A
o

@ 50 + (60 — 22)m

Fach month she earns $60 tutoring math, of which she

spends $22 per month. She deposits fhe rest of her
earnings into her checking account. Which expression
best represents how much money Stephanie should
have in her checking account after m months?

Purple
B 50+22m Pink
C 50+60m Light Blue
D 50+60m-22 Uellow

50 + (W0-22)m

3. Which function is the parent function of the graph
Q pelow?
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A y=x Pink
D y=x-4 Light Green
(i'—.)y:X2 Peq
D y=-x’-4 Bilue

1. Jll'has a $30 ift certificate for a movie rental. Each titme
she rents a movie, $6 is deducted from her gift cerfificate
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Mercy deposits 4550 In d savings account dt 5% sirmple
anriual interest. Tre value of fhis account, v s alven by
' tre function v = 550 +16.5¢, in which #is the ramoer

“of years fre morey s in the bank. What is thefrahcelof
s funcllon? U
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A 0<V<550  (pioy alwe o teso
v =550 Light Green Alviay s S
C v <550 Bk ov MORE -
W 0<v<165 Gy

Wnich situation could fnis graph best represent?
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A boy ran for 10 minutes, rested on a bench for 1B
minutes, and fhen ran for 10 more minutes. Blue)

X A boy ran for 10 minutes, walked for B

minutes, and then ran for 10 more minutes. Red

4 bog@or 10 minutes, rested on a bench for 15 S%
minutes, and *hen@}or 10 more minutes. Gray) SW

i )

Kim has determined that when she reads af a rate of 4

pages per rrinute, fhe relationship betueen fine number
of [0 and the fime she spends reading,
1 is described by the relationship p=4£ Wnich best
represents the gepe i L in ’rhiifsi’ruqﬁonP P

A boy walked for 10 mirutes, ran for 15 minutes, arxd
then wadlked for 10 more minutes. Broun

R

The rafe of pages read depends on 112 number of
pages read (ight Blue)

Tre rate of pages read depends on the time spend
reading Uellow)

The number of pages read depends on the fime spent
reading. Black)

The tirme spent reading depends on the number of pages
read Orange)
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7. Which of the following are the domain ard ravke for the \Q N B, Which set of ordered pairs represents a function?
araph shown below? 100, &, ) (7. 10), 4, 0) B Uellow
Q\‘ : B 8 10, . 8.0, 57), (8. 5), é;) Light Pirk
J . X Db 40.0.0.00.6.3.0 7  Pupe
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X 0<x<4 -
0< y< 36 Pirk
A -16x +1 Omhge @ —16x +29 ngh"' Green
X 0<x<36 C. =2x+1  Wnite D. -12x +13  peq
05<y<35 Peach
0.5<x <35
0<y<36 Light Blue
0.5<x<35
0<y<36 Light Brown
0. Which of the following graphs cbes@'epresem yas a function of X
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y-4= -3 2)

11. Tre graph below best represents which of e following . ldrite foe equation of tne lire that passes trircugn tre
"‘ relationships between speed and fire elapsed? Q/ point £2, 1) and s o slope of -3, In standard form.
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34 =3 -2 e
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elansed B, Which number lire below matches the inequality

Carol rides ner bike steadlly Up the street and fhen ((;1 <-3x+2<8?
takes g bredk and then quickly rides back Orange) QR&\

"

X A woman climbs a hill at ¢ steady pace and fhen Oﬁ "{_ '!b } @ﬁ—l-—@
2

starts 1o run down one side. PIk) - -2 =\ (o) J

Mike runs up a il and tren runs back down tre il @
Lignt Brown -3
-7 - () | 2

Bill rode nis bicycle down a hill and then slowly came

to a stop. Lignt Greer) )( ..{—l | H_)
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12, Which expression can be used to find the nth ferm in the
folowing sequence, where nrepresents a numbper’s D.
Q’ _ position in the sequence? 3 ] . £
Q AL xh X D B WPk
Term 1 3 6 q 2 rqnge
Z -3 4~
Value 5 Y 8 x| 27 -3% < 2 :3 Ao
X X (v *’ q" = = 5 d Tan
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13, Diego solved the following equation using the steps = 2 L )( -
shown below \
\}.b‘@ cepl BpElmgiis LAl '
ep X t+th=X+ s
@,\‘\ , Qe ool mams
: Ctep s 2x =12
Stept  x =6
Wnat operation did e perform to get from Step 1to Step 2°
A Added x fo both sides of e equation Black
B Divided both sides of the equation by 2 Green

C Mmultiplied both sides of the equation by 2 Uellow
@gk)bTYQCerd x from both sides of the equation  Light Blue
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